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NEW QUESTION 1
Which design element is a best practice when deploying an 802.11b wireless infrastructure?

A. disabling TPC so that access points can negotiate signal levels with their attached wireless devices.

B. setting the maximum data rate to 54 Mbps on the Cisco Wireless LAN Controller

C. allocating nonoverlapping channels to access points that are in close physical proximity to one another
D. configuring access points to provide clients with a maximum of 5 Mbps

Answer: C

NEW QUESTION 2
When configuring IPv6 on an interface, which two IPv6 multicast groups are joined? (Choose two)

A. 2000::/3
B. 2002::5
C. FC00::/7
D. FF02::1
E. FF02::2

Answer: DE

NEW QUESTION 3

What are two southbound APIs? (Choose two )
A. OpenFlow

B. NETCONF

C. Thrift

D. CORBA

E. DSC

Answer: CD

NEW QUESTION 4

Lol EM2 LI

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 5

Which two must be met before SSH can operate normally on a Cisco 10S switch? (Choose two)

A. The switch must be running a k9 (crypto) 10S image

B. The Ip domain-name command must be configured on the switch
C. IP routing must be enabled on the switch

D. A console password must be configured on the switch

E. Telnet must be disabled on the switch

Answer: BC

NEW QUESTION 6
Refer to the exhibit.

{ Internet

‘.2

—____—/{101011.0/30] 1

: 2 y -1
— gy (v
B |

[

{ MPLS

—

A~ T~ 2.110.10.12.0/30

Routeri#show ip route
Gateway of last resorl is 10.10.11.2 to network 0.0.0.0

209165 200 0727 15 subnefted, 1 subneis
B 209 165 200,224 [20/0] via 101012 2, 03 22:14

208 185 201 027 5 subnetted, 1 subnets
B 209.165.201.0 [20/0] via 10.10.12.2, 02.26:33

209.165.202.0/27 is subnetted, 1 subnets
B 209.165.202.128 [20/0] wa 10.10.12 .2, 02:26:03

10 0 0 (/8 15 vanably subnetted, 8 subnets, 4 masks
C 10.10.10 028 1s directly connecited, GigabitEthernet(/0
C 10.10.11.0/30 1s directly connected, FastEthernet2/0
c 10.10.12.0/30 is directly connected, GigabitEthernet(/1
O 10.10.13.0/25 [110/2] wia 10.10.10.1, 00:00-04, GigabitEthernet0/0 M
0O 101013128728 [110/2] via 10 10 10 1, 00:00:04, GigabitEthemet(/(
0] 10 10.13.144/28 [110/2] via 10 10.10 1, 00:00:04, GigabiEthemnet(/0
0 10.10.13.160/29 [110/2] via 10 10.10.1, 00.00.04, GigabilEthernet0/0
O 10.10.13.208/29 [110/2] via 10.10.10.1, 00:00:04, GigabilEthernet0/0
5" 0000/0[1/0}wia 10.10.11.2

Switch1 Host A

101013214

Which prefix does Router 1 use for traffic to Host A?

A.10.10.10.0/28
B. 10.10.13.0/25
C. 10.10.13.144/28
D. 10.10.13.208/29

Answer: C
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NEW QUESTION 7
Refer to the exhibit.

ip arp inspaction viam 2

intarface fastetharnet 0/1
!'H'.'_':."]FHZI!"_' EOde ACCESS
switchport access vlian 2

What is the effect of this configuration?

A. The switch port interface trust state becomes untrusted

B. The switch port remains administratively down until the interface is connected to another switch
C. Dynamic ARP inspection is disabled because the ARP ACL is missing

D. The switch port remains down until it is configured to trust or untrust incoming packets

Answer: A

NEW QUESTION 8
Refer to the exhibit.

Atlantafeant T

Enter CGD:.H;'HI&T.}GD comnands cne par line. End with CNTL/E.
Atlanta (config) faaa new-modsl

Atlanta (config) faia anthanticartion login default local
Atlanta (config) #line vty 0 4

Atlanta (config-line)#login authentication default

Atlanta (config-line) fexit

Atlanta (config) fusername ciscoadmin password adminadminll)
Atlanta (config) fusernane ciscoadmin privilege 153

Atlanta (config) fenable password ciscalll

Atlanta (config) fenable sscret testingllld4

Atlanta (config) fand

Which password must an engineer use to enter the enable mode?

A. adminadmin123
B. default

C. testing 1234

D. ciscol123

Answer: C

NEW QUESTION 9
What is the primary different between AAA authentication and authorization?

A. Authentication verifies a username and password, and authorization handles the communication between the authentication agent and the user database.
B. Authentication identifies a user who is attempting to access a system, and authorization validates the users password

C. Authentication identifies and verifies a user who is attempting to access a system, and authaorization controls the tasks the user can perform.

D. Authentication controls the system processes a user can access and authorization logs the activities the user initiates

Answer: C

NEW QUESTION 10
A Cisco IP phone receive untagged data traffic from an attached PC. Which action is taken by the phone?

A. It allows the traffic to pass through unchanged
B. It drops the traffic

C. It tags the traffic with the default VLAN

D. It tags the traffic with the native VLAN

Answer: C

NEW QUESTION 10
What is a benefit of using a Cisco Wireless LAN Controller?

A. Central AP management requires more complex configurations
B. Unique SSIDs cannot use the same authentication method

C. It supports autonomous and lightweight APs

D. It eliminates the need to configure each access point individually

Answer: D

NEW QUESTION 11

Which attribute does a router use to select the best path when two or more different routes to the same destination exist from two different routing protocols.
A. dual algorithm

B. metric

C. administrative distance
D. hop count
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Answer: D

NEW QUESTION 13

Which unified access point mode continues to serve wireless clients after losing connectivity to the Cisco Wireless LAN Controller?

A. sniffer

B. mesh

C. flexconnect
D. local

Answer: B

NEW QUESTION 16

What are two reasons that cause late collisions to increment on an Ethernet interface? (Choose two)

A. when the sending device waits 15 seconds before sending the frame again
B. when the cable length limits are exceeded

C. when one side of the connection is configured for half-duplex

D. when Carner Sense Multiple Access/Collision Detection is used

E. when a collision occurs after the 32nd byte of a frame has been transmitted

Answer: CE

NEW QUESTION 20

Router A learns the same route from two different neighbors, one of the neighbor routers is an OSPF neighbor and the other is an EIGRP neighbor. What is the

administrative distance of the route that will be installed in the routing table?
A. 20

B. 90

C. 110

D. 115

Answer: B

NEW QUESTION 25

What is the default behavior of a Layer 2 switch when a frame with an unknown destination MAC address is received?

A. The Layer 2 switch drops the received frame

B. The Layer 2 switch floods packets to all ports except the receiving port in the given VLAN.
C. The Layer 2 switch sends a copy of a packet to CPU for destination MAC address learning.
D. The Layer 2 switch forwards the packet and adds the destination MAC address to its MAC address table

Answer: B

NEW QUESTION 26

Which IPv6 address block sends packets to a group address rather than a single address?

A. 2000::/3
B. FC00::/7
C. FE80::/10
D. FF00::/8

Answer: C

NEW QUESTION 27
Refer to the exhibit.

[rootiBostTest ~]§ ip route
default via 192.168.1.1%3 dev ethl proto static

[root@fHostTest ~]# ip addr show ethl
ethl: mtu 1300 qdisc pfifo fast glen 1000
link/athar QQ:OC:22:8B3:7T9:A3 brd I Fr-Fr FE:FL-LF
inet 192.168.1.200/26 brd 152 .168.1.25% scope glcbal ethl
inets fel0; :20c ;29 . feld: 7903764 scope link
valid 1ft forever prafarred 1ft foraver

152 .168.1 . 0/28 dav athl proto kernel scopa link s 192.168.1 . 200 @etric 1

Drag and drop the networking parameters from the left onto the correct values on the right. Check the answer below.
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'I"' ™ b Y ™
A. Mastered
B. Not Mastered
Answer: A
Explanation:
BrT™ LaA™ i
'I"' ™ b Y ™

NEW QUESTION 31

Which two values or settings must be entered when configuring a new WLAN in the Cisco Wireless LAN Controller GUI? (Choose two)

A. management interface settings

B. QoS settings

C. Ip address of one or more access points
D. SSID

E. Profile name

Answer: DE

NEW QUESTION 34

Which command is used to specify the delay time in seconds for LLDP to initialize on any interface?

A. lldp timer

B. lldp holdtimt
C. lidp reinit

D. lldp tlv-select

Answer: D

NEW QUESTION 37

An engineer configured an OSPF neighbor as a designated router. Which state verifies the designated router is in the proper mode?

A. Exchange
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B. 2-way
C. Full
D. Init

Answer: B

NEW QUESTION 41

An engineer is asked to protect unused ports that are configured in the default VLAN on a switch. Which two steps will fulfill the request? (Choose two)

A. Configure the ports in an EtherChannel.

B. Administratively shut down the ports

C. Configure the port type as access and place in VLAN 99
D. Configure the ports as trunk ports

E. Enable the Cisco Discovery Protocol

Answer: AD

NEW QUESTION 46

Which QoS Profile is selected in the GUI when configuring a voice over WLAN deployment?

A. Bronze
B. Platinum
C. Silver

D. Gold

Answer: B

NEW QUESTION 50
Refer to the exhibit.
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1y T Malla e lda Tl a da
RL=S u D router osp

router ospt 1

router-igd 2.2.2.2
pg-adjacency-changes

auto-cost reference-bandwidth 10000
network 10.10.10.1 0.0.0.0 area D
network 10.10.13.1 0.0.0.0 area 0

R2#show ip route

{-.'I-'f!"'"-'-tir' Of 1351 resort s Nnot sat

10.0.0.0/8 is variably subnetted,

C 10.10.10.0/30 is directly connected

-:l:-.-l- =
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44/28 is directly connected

% .
25 is directly connected, V

a4 O
|8 =
S— Al —
10/ 3
_-'-'ﬁ' Y. Sy
intermet
Ri#show ip route
Gateway of last resort is not se
10.0.0.0/8 is variably subnetted, 4 subnets, 3 masks
C 0.10.10.0/30 is directly connected, FastEthernet0/1
oy - Wzl B+ "‘-r i"-" -="_| - - _.l-.'\l.l 2L | - _N
O 10.10.13.0/25 [|110/65 a 10.10.10.1, 01:37:03
C 10.10.10.16/20 is directly connected, FastEthernet(/24
O 10.10.13.144/2E [110/110]} via 10.10.10.1, 01:37:03
Rifsh run O router ospy

g-adjacency-Changes
auto-cost reference-bandwidth 1000
network 10.10.10.2 0.0.0.0 area O
default-information originate

An engineer is bringing up a new circuit to the MPLS provider on the Gi0/1 interface of Routerl The new circuit uses eBGP and teams the route to VLAN25 from
the BGP path What s the expected behavior for the traffic flow for route 10.10.13.0/257?

A. Traffic to0 10.10.13.0.25 is load balanced out of multiple interfaces
B. Route 10.10.13.0/25 is updated in the routing table as being learned from interface GiO/1.

C. Traffic to 10.10.13.0/25 is asymmeteical

D. Route 10.10.13.0/25 learned via the GiO/0 interface remains in the routing table

Answer: D

NEW QUESTION 55

An organization has decided to start using cloud-provided services. Which cloud service allows the organization to install its own operating system on a virtual

machine?

A. platform-as-a-service
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B. software-as-a-service
C. network-as-a-service
D. infrastructure-as-a-service

Answer: D

NEW QUESTION 60
Refer to Exhibit.

Se0/0/1 2013 /126 S a4
= | - e i .
" ) -1y
~ _.n:Jh-H"V' ¥
A %, - - . o f".
Atlanta v Se >e000 .,/ | .
'-}‘ - i 1
. 3 A Static route to Lo1 on Atlanta via Se(/0/ 1
)efaull Route via Se
- _4-} e =
SUL L i =
_onfigured routers IPv6 addresses
Atlanta
Senal 000/0 . 2012..1/126
R
cUso 7140 senal 000/1 . 20131126
Loopback1 200 28
[ w Yl
Ty .}r— i I-'| » a C P L i # U‘ " ot -
SRV == U] enal 0/0/0 - 201227126
|j -\-LJ' - '\1-. - L - Il_
oenal 01 - 20232126
New-York Loopback? 2000 2/128
Lo2 - Washington
Senal 000 2023 V126
aenal Ul 2013312
Loopback3 2000 3/128

An engineer is configuring the NEW York router to reach the Lol interface of the Atlanta router using interface Se0/0/0 as the primary path. Which two commands
must be configured on the New York router so that it can reach the Lol interface of the Atlanta router via Washington when the link between New York and Atlanta
goes down? (Choose two)

A. ipv6 router 2000::1/128 2012::1
B. ipv6 router 2000::1/128 2012::11 5
C. ipv6 router 2000::1/128 2012::2
D. ipv6 router 2000::1/128 2023::2 5
E. ipv6 router 2000::1/128 2023::3 5

Answer: DE

NEW QUESTION 65
Which two outcomes are predictable behaviors for HSRP? (Choose two)

A. The two routers share a virtual IP address that is used as the default gateway for devices on the LAN.

B. The two routers negotiate one router as the active router and the other as the standby router

C. Each router has a different IP address both routers act as the default gateway on the LAN, and traffic is load balanced between them.D The two routers
synchronize configurations to provide consistent packet forwarding

D. The two routed share the same IP address, and default gateway traffic is load-balanced between them

Answer: AB

NEW QUESTION 69
Which two tasks must be performed to configure NTP to a trusted server in client mode on a single network device? (Choose two)

A. Enable NTP authentication.

B. Verify the time zone.

C. Disable NTP broadcasts

D. Specify the IP address of the NTP server
E. Set the NTP server private key

Answer: DE

NEW QUESTION 71
Refer to the exhibit.
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J Configured routers IPv6 addresses
’ Allanta
Washington Serial 0/0/0 2012 11126
L0 Loopback1: 2000:1/128
New York
Senal 0/10/0 - 2012 °2/126
Senal 0/0/1 2023 2/126

Loopback2: 2000.2/128
Nashington
Se0/0/0 “ Sa()/0/1 Senal 0/0/0 - 2023..3/12¢€
e Loopbackd 2000 3/128
New-York
L0/

The New York router is configured with static routes pointing to the Atlanta and Washington sites. Which two tasks must be performed so that the Serial0/0/0
interfaces on the Atlanta and Washington routers can reach one another? (Choose two.)

A. Configure the ipv6 route 2012::/126 2023::1 command on the Washington router
B. Configure the ipv6 route 2023::/126 2012::1 command on the Atlanta router.

C. Configure the Ipv6 route 2012::/126 s0/0/0 command on the Atlanta router

D. Configure the ipv6 route 2023::/126 2012::2 command on the Atlanta router

E. Configure the ipv6 route 2012::/126 2023::2 command on the Washington router

Answer: CE

NEW QUESTION 76
Which result occurs when PortFast is enabled on an interface that is connected to another switch?

A. Spanning tree may fail to detect a switching loop in the network that causes broadcast storms
B. VTP is allowed to propagate VLAN configuration information from switch to switch automatically.
C. Root port choice and spanning tree recalculation are accelerated when a switch link goes down
D. After spanning tree converges PortFast shuts down any port that receives BPDUSs.

Answer: A

NEW QUESTION 81
When a floating static route is configured, which action ensures that the backup route is used when the primary route fails?

A. The floating static route must have a higher administrative distance than the primary route so it is used as a backup
B. The administrative distance must be higher on the primary route so that the backup route becomes secondary.

C. The floating static route must have a lower administrative distance than the primary route so it is used as a backup
D. The default-information originate command must be configured for the route to be installed into the routing table

Answer: A

NEW QUESTION 83
What makes Cisco DNA Center different from traditional network management applications and their management of networks?

A. It only supports auto-discovery of network elements in a greenfield deployment.

B. It modular design allows someone to implement different versions to meet the specific needs of an organization
C. IT abstracts policy from the actual device configuration

D. It does not support high availability of management functions when operating in cluster mode

Answer: A

NEW QUESTION 87

Which network allows devices to communicate without the need to access the Internet?
A. 1729.0.0/16

B. 172.28.0.0/16

C. 192.0.0.0/8

D. 209.165.201.0/24

Answer: D

NEW QUESTION 91
Refer to the exhibit.
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Router? — —

RouterZ2show ip route
Gateway of last resort is not set

10.0.0.0/8 s vanably subnetted, 4 subnets, 2 masks
C 10.10.10.8/30 is directly connected. FastEthernetd/2
C 10 10.10 12730 i1s dwectly connected, FastEthemet(/1
O 10.10.13.0/25[110/11] via 10.10.10.9, 00:00.03, FastEthemet0/2
[110/11] via 10.10.10.13, 00:00:03, FastEthernet0/1
C 10 10.10 4/30 1s directly connected, FastEthemnet(/2

If OSPF is running on this network, how does Router 2 handle traffic from Site B to 10.10.13/25 at Site A?

A. It sends packets out of interface Fa0/2 only.
B. It sends packets out of interface Fa0/1 only.
C. It cannot send packets to 10.10.13 128/25

D. It load-balances traffic out of Fa0/1 and Fa0/2

Answer: D

NEW QUESTION 96
Refer to the exhibit.
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An extended ACL has been configured and applied to router R2 The configuration farted to work as intended Which two changes stop outbound traffic on TCP
ports 25 and 80 to 10.0 20 026 from the 10.0.10 0/26 subnet while still allowing all other traffic? (Choose two)

A. Add a "permit ip any any" statement to the begining of ACL 101 for allowed traffic.
B. Add a "permit ip any any" statement at the end of ACL 101 for allowed traffic

C. The source and destination IPs must be swapped in ACL 101

D. The ACL must be configured the Gi0/2 interface inbound on R1

E. The ACL must be moved to the Gi0O/1 interface outbound on R2

Answer: AE

NEW QUESTION 100

The Leader of IT Certification

visit - https://www.certleader.com



CertLeader.m 100% Valid and Newest Version 200-301 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/200-301-dumps.html (103 Q&AS)

A router running EIGRP has learned the same route from two different paths Which parameter does the router use to select the best path?

A. cost

B. adminstrative distance
C. metric

D. as-path

Answer: C

NEW QUESTION 102

R1 has learned route 192.168.12.0/24 via I1S-IS. OSPF, RIP. and Internal EIGRP Under normal operating conditions, which routing protocol is installed in the

routing table?

A. 1S-IS

B. RIP

C. Internal EIGRP
D. OSPF

Answer: C

NEW QUESTION 107
Which MAC address is recognized as a VRRP virtual address?

A. 0000.5E00.010a
B. 0005.3711.0975
C. 0000.0C07.AC99
D. 0007.C070/ABO1

Answer: A

NEW QUESTION 111
If a notice-level messaging is sent to a syslog server, which event has occurred?

A. A network device has restarted
B. An ARP inspection has failed
C. Arouting instance has flapped
D. A debug operation is running

Answer: A

NEW QUESTION 113

Which API is used in controller-based architectures to interact with edge devices?
A. overlay

B. northbound

C. underlay

D. southbound

Answer: D

NEW QUESTION 116
Drag and drop the functions from the left onto the correct network components on the right
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

hoids the TCP/IP sathngs to be dstnbuted to the chents |

resolves wed URLs 1o [P aodresses |

T R

P A T

stores 3 ket of TD afddrestas mappad 1o names

hoias the TCP'IFP sathings to De dStnDuted to the Chents I

assgns 3 0efault gateway 10 3 Chent |

2ss0ns [P addresses to enabed Chents

NEW QUESTION 119
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